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1. Which of the following is called artificial polymer?
a) Silk b) Protein
c) Polystyrene d) Starch

2. Which of the following is called petroleum wax?
a) Honey wax b) Paraffin wax
c) Jojoba wax d) Carnauba wax

3. First women's post office of Bihar is opened in

which city ?
a) Begusarai b) Patna
c) Hajipur d) Darbhanga

4. Vishwa Shanti Stupa is located in which district of

state ?
a) InBodh Gaya b) In Rajgir
c) Invaishali d) In Patna

5. Which of the following is known as animal starch?
a) Glycogen b) Cellulose
¢) Glucose d) Kaitlyn

6. The chemical formula of fructose is -
a) CiH2O0n b) CsHi1206
c) Ci2His0s d) CsHiOs

7. Riboflavin is a-
a) Vitamin b) Hormone
c) Fatty acid d) Enzyme

8. Under Article-356, if the President's rule is
implemented in the state, then for how many days
it can remain in force without the approval of
Parliament?

a) 6 months b) one year
c) 2years d) Until the  president
wishes

9. Which inscription mentions about Vvillage
administration of Cholas?

a) Junagadh b) Uttaramereur
c) Aihole d) Nashik

10. Which one of the following is not a stupa?
a) Ranchi b) Sanchi
¢) Bharhut d) Dhamek

11. Which of the following books was written by
Rashtrakuta ruler Amoghavarsha I?

a) Adipuran b) Ganit saar sangrah
c) Sankayan d) Kaviraj Marg

12. Hampi was known as -

a) It was the capital of b) It was the capital of
Golconda. Vijayanagar.

c) Translation of Indian d) None of the above
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13.

a)
<)
14.
a)
<)
15.

a)

<)

16.
a)
c)

17.

a)

c)

18.
a)

19.

a)

c)

20.

a)

<)
21.
a)
<)

22.
a)

c)

23.
a)

poetry into Persian.

How many types of emergency have been provided
in the constitution?

1 b) 2
3 d) 4

Four Matha's - Shringeri, Badrinath, Dwarka and
Puri were founded by whom?

Ramanuja b) Ashok
Shankaracharya d) Madhav Vidyaranya

Name of Muslim invader who destroyed Nalanda
University?

Alauddin Khilji b) Muhammad bin Tughluq
Mohammed-bin-Bakhtiar d) Mohammad bin gasim
Khilji

Who among the following was the first
grammatologist of Sanskrit language?

Kalhan b) Maitrei

Kalidas d) Panini

What is the full name of Indian political party NCP?

Nationalist Congress b) Indian national congress
Party

National Communist d) Nationalist Conference
Party Party

English is the official language of .................. ?
Chhattisgarh b) Meghalaya

Assam d) Goa

The change in structure and working pattern of
B.C.C.l. is recommended by .

Lodha Committee b) Parekh Committee
Naresh Chandra d) Bibek Debroy committee
committee

Which section of the Indian Penal Code (IPC)
belongs to the homosexual, gay, heterosexual and
transsexual (LGBT) community?

377 b) 376
370 d) None of these

The year of the signing of 'Shimla Treaty' between
India and Pakistan is -

1972 b) 2001
1965 d) 1971

The tenure of the President of Switzerland is ?
2 years b) 4 years
1 year d) 3years

The native place of 'Hapus/alfansoo’ mango?
Ratnagiri b) Banaras
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©)
24.

a)

<)

25.
a)
c)

26.
a)
c)

27.
a)

c)

28.
a)

c)

29.

a)

c)

30.

a)

c)

31.

c)

32.

a)

c)

33.

a)

c)

34.

a)

Malda d) Vijayawada

The Green Revolution was the most successful in .

Punjab and Tamil Nadu  b) Punjab, Haryana and
Uttar Pradesh

In haryana d) Uttar  Pradesh and
Maharashtra

Who was the governor general at the time of 1857
revolt?

Lord Dalhousie
Lord Bentinck

b) Lord Minto
d) Lord Canning

Who built the world famous Konark Sun Temple in
Odisha?

Krishna devarai
Chandra Gupta

b) Ashok
d) Narasimha Dev

Who is the author of "Meghdoot"?
Sudraka b) Vishakhadutt
Kalidas d) Chanakya

Gandhara art is a combination of which two arts?
b) Indo-Greek
d) Indo-Chinese

Indo-Roman
Indo-Islamic

Which is the first country to include the Preamble

in the Constitution?
America b) India

Britain d) Canada

How many times has the Preamble of the
Constitution of India been amended?

b) 2 times
d) Never

3 times
1 times

The functional unit of kidney is -
b) Neuron
d) Arteris

Aaron
Nephron

Which of the following is responsible for balancing
the amount of water in the human body -

b) Liver
d) Lungs

Heart
Kidney

In which chronology did the following events
occur?

i) Chauri-Chaura incident ii) Jallianwala Bagh
massacre

iii) Rowlatt Satyagraha iv) Champaran Satyagraha
1-2-3-4 b) 2-3-4-1
4-3-2-1 d 3-2-4-1

Which Indian athlete has been awarded the

Veteran Pin Award by the IAAF?
Milkha Singh b) P T Usha

c)

35.
a)

c)
36.
a)
c)

37.
a)

c)

38.
a)

<)
39.
a)
<)

40.
a)

c)

a1.
a)

c)

42.

a)

c)

43.
a)

c)

44.

c)

45.

a)

c)

Prakash Padukone d) Anas Mohamad

World Tourism Day is celebrated on ?
b) 25 September
d) 27 September

22 September
26 September

In which field is the Shanti Swarup Bhatnagar

Award given?
Science b) Sport

Social service d) Tribal development

Chewing gum made of?
Resins b) Tennin

Latex d) Gum

Which of the following is an air to air missile?
Prathvi b) Agni
Akash d) Astra

Who is the Chief of the Indian Navy -

Birender Singh Dhanoa b) Vice Admiral  Ashok
Kumar

Bipin Rawat d) Admiral Karambir Singh

MIRV is

Multi Directional b) Multiparous integral

Independent Reoriented independent  revolution

Vehicle vehicle

Multiple Independent d) Multi Dimension

Targeted Reentry Vehicle Independent Reentry
Vehicle

The Indian Air Force Academy is located at -
Hyderabad b) Coimbatore
Kakinada d) Mumbai

Who has taken charge as new Prime Minister of
Sudan?

Omar al-Bashir
Abdalla Hamdok

b) Hassan Saleh
d) Mutaz Musa Abdullah

The origin of Indian music could be traced in ?
b) In Yajurveda Samhita
d) In Atharvaveda Samhita

In Rigveda Sambhita
In Samaveda Samhita

Which of the following sequence is correct ?

Brahmacharya-grihastha-
vanaprastha-sannyas

b) Grihastha-Brahmacharya-
Vanaprastha-Sannyas

Brahmacharya - d) Grihastha-sannyasa-
vanaprastha-sannyasa- vanaprastha-
grihastha Brahmacharya

Which of the following countries does not share
the border with Afghanistan?
Iran b) Georgia

Turkmenistan d) Uzbekistan
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46.

a)

c)

47.

a)

c)

48.

a)

<)

49.

a)

<)

50.

a)

c)

51.

a)

c)

52.
a)
c)

53.
a)
c)

54.

a)

c)

55.
a)

c)

56.

Greenland is the largest island in the world, it is an
integral part of : -

Of Norway b) United states of America
Of denmark d) Canadian
The UNCCDs Conference Of Parties (COP 14) is

being held in which country?

Israel b) France

New Zealand d) India
In the constitution, there is no provision for
impeachment of whom?

Chief Justice of India b) Chief Justice of a High

Court

Governor d) President

On whose prior permission can a Money Bill be

brought in the State Legislative Assembly?
Governor of the State b) State chief minister
Speaker of the Legislative d) State finance minister

Assembly

How many members of the Anglo-Indian
community are nominated by the Governor to the
State Legislative Assembly?

1 by 2

12 d) 6

In the context of the stock market, what is the full

form of IPO?
Instant payment order b) Internal policy grace
Initial public offering d) International

grace

payment

Who has become the Indias first female flight
commander?

Avni Chaturvedi
Shalija Dhami

b) Shubangi Swaroop
d) Deepti Sharma

Bull and Bear are related to which commercial
activity?
Banking b) E-commerce

International trade d) Stock market

Dokdo islands is the bone of contention between
which countries?
China and Japan b) South Korea and Japan

d) North Korea and South

Korea

India and Sri Lanka

What is the chemical name of baking soda
sodium carbonate b) Sodium bicarbonate

Sodium chloride d) sodium nitrate

The most common bleaching agent is -

a)

c)

57.
a)

c)
58.
a)
c)

59.
a)

c)
60.
a)
c)

61.
a)

c)

62.
a)

c)

63.
a)

c)

64.
a)

65.

a)

c)

66.

a)

c)

67.

Carbon dioxide b) Alcohol

Chlorine d) Sodium chloride

In an year ,where night and day are equal?
North Pole b) South pole
Equator d) None of these

The basis for determining the standard time of a
place is -
Horse latitude b) Prime meridian longitude

International date line d) Equator

International Date Line has been drawn -
b) Via the Pacific Ocean
d) Via the Atlantic Ocean

Via africa
Via Asia

What is asbestos?

Calcium
silicate

magnesium b) Alumina

calcium silicate d) Magnesium silicate

How many organs does the United Nations have?
6 b) 3
4 d 5

Shagun’ portal, is associated to which field?

Ground
preservation

water b) Women empowerment

School Education d) Domestic violence

The National Institute of Rural Development is at ?
New Delhi b) Mumbai
Hyderabad d) Kanpur

The National Chemical Laboratory is located at -
Mumbai
Hyderabad

b) Bangalore
d) Pune

The number of unpaired electrons in an inert gas is
0 b) 8
4 d) 18

Who does the work of collecting data related to

Capital Formation in India?

Reserve Bank of India b) Reserve Bank of India

and Central Statistical and State Bank of India

Office

Reserve Bank of India d) Central Statistical

and all commercial banks Organization and
National Sample Survey

Which of the following is an indicator of economic
growth?

Increase  in  national
income on fixed prices in

b) Corrective increase in
actual per capita income
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<)

68.

a)

c)

69.

a)

c)

70.

a)
c)

71.

a)
©)
72.
a)
c)
73.
a)
c)

74.

a)

c)

75.
a)

c)

76.
a)

c)

77.

fixed period

Increase  in  national d) An increase in national
income on current prices income with population
in a fixed period growth

Which Indian has been awarded the ‘Changemaker
Award' by Bill & Melinda Gates Foundation for
bringing change in society?

b) Narendra Modi

d) Ramnath Kovind

Priyanka Chopra
Payal Jangid

The Union Government has instituted the highest
civilian award in the field of contribution to the
unity and integrity of India in the name of which
freedom fighter?

Shyama Prasad b) Mahatma Gandhi
Mukherjee
Sardar Vallabh Bhai Patel d) VD Savarkar

The first-ever India-Caricom leaders’ summit was
held in which city?

Washington DC
Houston

b) New York
d) Chicago

Human Development Report is published by which
of the following organizations?

UNESCO b) WORLD BANK
U.N.D.P. (UNDP) d) LM.F. (IMF)

The most suitable standard for measuring the

economic growth of that country is -
Gross Domestic Product  b) Net domestic product

Net national product d) Per capita income

What are the total number of Earth's lines of
latitudes?

80 b) 181
360 d) 90

Which of the following is the reason for change in
the seasons?

Changes in Earth's b) Earth's gravity

position around the Sun
All of the above d) Moon rotation in stable

orbit around the Earth

Why is helium is used in balloons?
b) Itis lighter than air.

It is a component of d) Itisan inertgas.
water.

Its atomic number is 3.

The maximum density of water is at -
100° C b) 0°C
4°C d) 273°C

Sodium is usually stored in

a)

c)
78.
a)
c)

79.

a)

c)

80.

a)

<)

81.
a)

c)

82.
a)

83.
a)

c)

84.

In alcohol b) In Water

In ammonia d) In kerosene

Equator, Cancer line and Capricorn Line pass
through which continent?

Africa
North America

b) Asia
d) South america

What was the main reason for the Gandhi-Irwin
accord?

To facilitate b) To end the  civil
congressional disobedience movement.
participation in  the

Round Table Conference

To break the fast of d) both AandB

Gandhiji's

Who formed the secret
revolutionaries Abhinav Bharat?

b) V.D. Savarkar
d) Bhagat Singh

organization of

Khudiram Bose
Prafulla Chaki

Who prepared the Nehru Report?
M.L. Nehru b) J.L. Nehru
R.K: Nehru d) B.L. Nehru

Tsunami waves originate due to ?
Seismic activities under b) Moon attraction pull
sea

Sea tide d) Cyclone

Which of the following is Direct Tax?
Sales tax b) Excise tax

Estate duty d) Entertainment tax

Which of the following Tax was done by the state
government?
Entertainment tax b) Estate tax

Income tax d) Corporation tax

Who changed the name of Hindustan Republican
Association established by Shachindranath Sanyal
to Hindustan Socialist Republican Association?

b) V D Savarkar

d) Chandrashekhar Azad

Ras Bihari Bose
Subhash Chandra Bose

Which of the following newspaper was started by
Mahatma Gandhi in South Africa?

b) India Gazette
d) Indian Opinion

Navjivan
African

Bt- seed is related to?
Rice / Paddy
Cotton

b) wheat
d) Oil seeds

The study of crops called?
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a)

c)

89.
a)

c)

90.
a)

c)

91.

a)

<)

92.
a)

c)
93.

a)

<)

94.
a)

c)

95.

a)

c)

96.

a)

c)

97.

Pomology b) Agronomy
Alariculture d) Floriculture

Bio-diesel is produced from?

Mitasi / Metasia b) Malawasi
Liliane d) SiciwT

Which enzyme helps convert milk into curd?
Renin b) Pepsin

Resin d) Citrate

Who was elected the new chief of the International
Monetary Fund?

Dmitri Medev b) Roberto Azevdo
Kristalina Georgieva d) Christine Lagarde

What is the theme of World Tourism Day this year?

Tourism  and  Jobs-A b) Tourism: - Explore the
Better Future For All World
Friendly Tourism d) None of these

Which of the following is not part of the economic
reforms of the second generation?

Oil sector improvement  b) Public sector reform

Reform of judicial system d) Reform of government
and public institutions

Economic growth is usually coupled?
With deflation b) With inflation
With stagflation d) With Hyper inflation

Economic survey of India is published every year by
which organisation?

By the Reserve Bank of b) By the Indian Planning
India Commission

By the Ministry of d) Ministry of Industry,
Finance of the Government of India
Government of India

International nuclear weapons total elimination
day is observed on which day?

26 September b) 25 September
28 September d) 23 September

Which is used to coat the non-stick coating over
the utensils.

Perspex b) Styrofoam
Polystyrene d) Teflon

Which of the following does not contain
cholesterol?

Peanut Oil b) Butter
Buttermilk d) Ice cream

Gautam Budha Wildlife Sanctuary is located in
which district ?

a) In Rajgir b) In Patna
c) In Bodh Gaya d) In vaishali

100. What Nawab Munger Bengal had built his capital?
a) Alivardi Khan b) Mir Zafar
c) Siraj-ud-daula d) Mir Qasim
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